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ST g § RUEnmE / CHILD DEVELOPMENT AND PEDAGOGY
Py ; PR wet & o 3% & frg wed o R g

he following questions by selecting the most appropriate option.

Direction : Answer t

1. Prefefed § @ S9-@ da@q @i 9 1. Which of the following is not a child
e Ay 7@ R ? centered method of learning ?
M SRt o (1) Demonstration
@ 8 I (2) Field Trip
(3) BT Glﬂ? i &9 Programmed Instruction
(4) ST g | (4) Project
2. aﬂ?gjk‘v[ % Tl Lgo g ga ol 2. According to McDougall, the emotion
qu%[ & 9y %ETE‘[;HW g7 ~ of 'disgust' is associated with which
EN ﬁﬁﬁ '2 T basic instinct ?
) @ R (1) Repulsion +(2J Escape
@) 53 @) (3) Combat (4) Curiosity
.3- T B Wﬂﬂiﬁ?ﬁ e % @8l |- 3. Selectthe correct sequence (top 10
ST (EEIT g ) & =g HIrTT = bottom) of hierarchical intelligence
(1) T RS o fafire #RE - theory of Vernon: "
@ S —ovWYg IH (1) General factor — Specific factor
R FH A FE - . —» Major factor — Minor factor
@ FRH BH .‘,(Zf Specific factor — General factor
: g g _» Minor factor - Major factor
) Pq’_ngGE . (3) General factor —» Major factor —>
_ TG HRD —> (IR DD _ Minor factor — Specific factor
C)) %Qw - HEY B~ (4) Major factor — General factor —
< FH > TG I Specific factor — Minor factor
4. F& & W § frfaia § @ 9= 4. Which of the following statements
FF g™ T ? regarding intelligence are not true ?
(a) e BT SRR H (a) Intellectual development - is
TG Gl &, Al &l e influenced by genetics, not
- environment.

(b) Gender differences do not
cause intellectual differences.

(c) Sharp intelligence is a sign of

) T RTagaTes R @
HROT TE B

© @ Fw, oF EoeERkEm B
RS Bt

T
: sharp memory.
(@) WT a%ﬁng 7 EEe (d) Intelligence gives the ability to
' adjust in new situations.
el e L T : . Choose the correct code :
1) @ W@ ®d) @ @ W () oAD (@) and (b) (2) (a) and (c)
@) B) W () 4 (c) @ (d) (3) (b) and (d) (4) (c) and (d)
[ Level-3/5321] @ IPIFE.0,
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5. Frfofes 8 3 P9 wdeh foren
# oF Rtem 592 ks
) 78 BRme Mys onavawmal @
(@) 7% RRves % sog g9 B
Hea B L

R L S ——
TS dei g B §

) T s F= # RRme Rer
% Hivg e B

8. Toelil =l B Ued Bq [
E HE-9 TOHU ganfad W o
- g g ? _
(a) ST T gdEe
(b) IMIE I=FF qHET
(c) Fafrd SERT gaeT @
(d) e et wdeor
#&l Fe 1 999 Fg :
(1) (a @ (d)
(2) (b) T ()
(3 (a), (b) T (d)
(4) (a), (b), (c) T (d)
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5. Which of the following is not a

characteristic of inclusive

education 7 .
(1) It suppgfts gpecial ecducational

needs ¢\ ;
(2) Itsays ﬁ@ celebrate diversity

()
(3) This ensures the participation of
teacher, parents, child and society

It is limited to the special
e education of disabled children

6. Which of the following is not a
feature of continuous and

comprehensive evaluation ?
(1) Regularity of assessment

(2) Frequenpy of unit tests
(3) Diagnasis of learning gaps

‘Jﬂr)\Measuﬁ}lg only scholastic
; achievginent

Z. In a leérn@'g situation presenting
relevant facts separately from non-

relevant facts, is indicative of which

principle of learning ?
(1) Principle of multiple response
(2) Principle of analogy

. (3) Principle of prepotency of

elements
(4) Principle of associative shifting

. 8. Which tests can be administered
by the teacher to identify creative
children ?

(a) Figuregpnstruction test
(b) Produtgf\’;improvement test
(c¢) Usual uses test
(d) Picturg gompletion test
Choose the correct code :
(1) (a) and (d)
(2) (b) and (c) .
(8) (a), (b) and (d)

%) (a), (b), (c) and (d)

-
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9. g P o ?_gﬁri 8 Prefafas o 9. Which of the following should nef be
A _-%L*’i-"ﬁ Promy well & smavess a nead of chilgdren with impairment
i o af 7 from the po[ﬁt of view of inclusive

education ? f--:

() @md R Fawm g Pl A (1) Need fq‘»rj coping with own's
SravaHd impairmeht

@ fm P W@ e @ (2) Need for proper guidance &
HEGF] counselling

@ T W Pl @ A o (3 Need for being dependent on

others

(4) TEEH IUHTN H HEEEA (4) Need for assistive equipments

10, Rem g sferm 3 99 I0% g4y 3 10. Which statement is incorrect about
it ¥ T FYT TTe ! - the development and its relationship

with learning 7

@ 48 oy R b | () Deprvaten ol lemng
P AT FTA development.

(2) T2 7@ T T WA T T T (2) Childref~can not learn until
3 R w1 # @ 5 R they are@evelopmentally ready
qar 7 to learn.

(3) [ aRwEE AR HEd # A= (3) Development is the product of
Bl maturation and learning.

(4) TR H ST F qEE 41" Despite the limits of maturation’
dET # Sefed fear S @ the development can go beyond
fepr we ffved forg @ oM o a certain point, when learning
T 8l is encouraged.

11. 3§ Sy g=3 & fog frefaraa § 11. Which of the following ways of
g IH-| G?i%ﬁF‘f H AqH IYGHR instruction is suitable for hearing
22 . impaired chjldren ?

(a) TiHfIH A (a) Sign lan%'\dage

(b) Gi'ﬂﬁﬂ ol | (b) Finger spelling

(c) # g % (¢) Lip readfﬂg

(d) TR T (d) Cued spkéch

HS‘?@ H =G4 HIY Choose the correct code :

(1) (a) T@ (c) (1) (a)and (c)

(2) (a), (b) T (c) (2) (a), (b) and (c)

(3) (a), (c) W@ (d) _ 3) (a), (c) and (d)
@ (@), (), () @@ 4 (a), (b), (S).and (d)

[ Level-3/5321]
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12.

13.

14.

15.

UL B g O

B & Prfofed § 3 S o
TETH FF R ?

(U%ﬂﬁﬁmqﬁﬁwmﬁ

() o Rraifat drgar

(3)%“@@%%%%

(4) TS
bl TR % g sfmRy

M & ¥ g w9
m%mmm
H TH I 75 F 7

(1) = g
(2) Wi e Rsigan
() fairas Jifre gy
(4) UgHY IRy

IS e § @3 3 ey &
HA-H e ggh d ?

(1) o T g

(2) SiEREE o ghmem

() SR o srgfRET™

(4) FEfa @ dm

fr=foied & & -8 3o qeromayet
forgrd erp orerdl § whwRm T8
g+ =R ?

(a) O qHE

(b) T Fewr fwa-aeg

(c) Efeas amEmias Ared

(d) freer @t qaird sifgfy
Tel FE H TAT HI :

(D) (@) T (d) (2) (a),(c) T (d)
@) (©) W (D (4 (a),(b) W (c)

[ Level-3/5321 ]
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12, Which of the following is not a

helpful action of teacher _in promoting

socialization among children ? .
Giving the individual project
work

(2) Assigning social responsibilities

(3) Organizing co-curricular
activities

(4) Motivating for
particigation

social

13. Which of &}ie following is not an -
example of-developmental changes
under acqﬁi%ition of new features ?

\Qa/Permanent teeth

(2) Primary sex characteristics
(3) Secondary sex characteristics

(4) Thymus gland

14. Which optﬁn is correct regarding
emotions iglbarly adolescence ?
(1) Intensé[@nd rational
(2) Unconfrdlled and rational
\(3) Uncontrolled and irrational

(4) Controlled and intense

15. Which of the following gender
biased actions are nof to be
involved in educational practices ?

(@) Homogcéneous grouping
(b) Gende%'leutral content
(c) Stereotyped
guidalJ@a
(d) Teacher's prejudiced attitude
Choose the correct code :

(1) (a) and (b) ™27 (a), () and (d)
(3) (c)and (d) (4) (@), (b)and ()

occupation

o I}
8 3

T 5l
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16, wea Wwis W B sirreafet & 16. Which strategies of learning is not
o ;ﬂfﬁ B B ERECH| appropriate BQJI the learner of
A : senior seconddry level ?
EW ™M
() %Tﬁ T WG H A Learningtasks at memory level
(@) s P @ G B I (2) Allowing(‘) self-discovery  of
knowledge
(3) TN SR i Ser AlNl sl (8) Giving appropriate space to
classroom interaction
(4) TReor-stfermT frerd #fe @ (4) Student c\c]entered teaching-
; learning —
N
17. HEE F HHQAS ﬁ-‘ﬁm Rra & 17. According tor%'-lyeud's psycho-sexual
mﬂjfll%f, E%WHISW' ﬁ?&ﬁ'{ feroi =" development-theory, the stage in
Sl B e %’ T P which adoledeknt attracts towards
.' opposite sex, is known as :
(1) fefm e/@mr  (2) TET ofER ﬁw}lalhc stage (2) Anal stage
(3) ST W™ (4) STHHK SqIET e \_(/%/Genital stage (4) Latency stage
) <
i8. O & Hawis faoy o @ 18. According to Piaget's cognitive
, e AFAl o olR o |- development theory, when the
3 4w chd aeRa T learner maintaining a proper balance
el ufEr FEere D between himself/herself and his/her
%’ @ = % b environment, this mechanism is
: : . called as :
(1) FHTATSHRTT (1) Accommodation
(2) STEGAIHTT @ _ (2) Assimilatien
(3) TEH BT (3 EquilibraBon
(4) THHT _ (4) Integratic%
£~
19. fenffd @ @ Suel &fIT SEm 19. When the asééssment is designed
Pl ﬁﬂﬂﬁﬂﬂ% 3 o, ?ﬁ@%ﬁ to evaluate student's overall
Jafy & ofg H G?ﬁiiﬁﬁ':!ﬁ qAn T achievement and proficiency at the
el & end of a learning period is known
el as:
(1) dad & eI A A_,Ql’)/z"-fkyssessment.<::f learning
OREEE % for {@T[Eb:;f (2) Assessment for diagnosing
(3) d@a & o ‘I@'JFFT : (3) Assessment for learning
(4) IR 3 U q@eT (4) Assessment for remedy

[ Level-3 /5321 ] P: TO;
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21.

22.

A w0y Ry Pept sl

FoawT Py add, wenes gee
o - " = RO K. 8y
3 N HRaR odf B a8 e

BEAE B

() Rty
(2) Famf ,
(3) T A

(4) R

e B N Rem Ree @

MR oraeEmet B g R

%wgﬂﬁaﬁﬁu k
A st

@ ¥FW ¥ T §
ERRIGET

e
() TH gl o

®) W e ) @M ) amie
AT @ e

© B FFRRE ) AT W T
LED| M
@ FARE A EE @ e
Ryar e
7l B H T FY
C A O - F
M @ vy @ i)
(2 (i) @) (i)  (iv)
@ @Gv) @) @) ()
@ @ (i)  (v) (i)
s R e omwew a@
T 3 Y qagte aRwR @ @
H & ?
(1) f3rer @ AR
(2) F9E & HHR
(3) i & SAfHT
(4) UHIHI FT AR

[ Level-3/5321]
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20. ‘A digorder of writing ability in which
a learner has difﬁculty with letter
(‘ ’
formation, speling, fine motor

co-ordination qfq, This disorder is

8
r-.

(1) Dyslexia O

(%) Dysgraphia

(3) Dyspraxia

called as :

(4) Dyscalculia

21. Match the following stages of
Kohlberg's moral development
theory with their characteristics :

Moral Stages N Characteristics
—

(a) Conforming ) (i) Getting the approval
obtainreward (N of others
4

(b) Maintaining sociph~ (ii) Stage based on self-

order O

(c) Good interpersonal

interest

(iii) Eternal value accepted
relationships by conscience
(d) Universal ethical

principles

(iv) Importance of justice
and law
Choose the correct code :
@ ® @© @
(ii) (iv) (i) (ii1)
(2) (iid) (i)(\l (i) @(iv)
(3) (v) (s @) (i)
@ O G (v (i)
™M

22. Which constifutional

right of
children with special needs does

inclusive education protect ?
Right to Education

(2) Right to Respect

(3) Right to Acceptance

\_g»)/Right to Integration

AUk
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23.

24.

25:

26.
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(1) ST

st
Prafifad ®§ @ D9-0 dm e
& g Qv 77 2

() ¥ IRF &7 A o Ry ¥
@) 3 TENTEIET § s A ¥
3) ¥ TRAF R F e B &

(4) 3 TETE § & TEgH B ¥
TR F ARG A e 3

AU H B9 ¥ FaRed HT
(a) TAER FH TFeHTT

(b) AR F Gfee

- (€) el & &0

(d) B9 H fhares qirfy
7el BT H =TI HIT ¢
(1) @), (c), (), (b)
@) (), @,1), @)
3) (o), (d), @), (b)
@ (), ©), &3) (a)
Frtaiaa ﬁ T B airgaﬁma?n g
g 7t e ¢
(2) TR

(3) Ham - (4) AR

ffviea & @ PH-T1 FF afs
e & HE § 8 78 R

() YofFs =T STMTeTs T R
At = & el B

(Z)awﬁﬁm i R £ 1 KU
rﬁmirqsm%:
(3)3ﬂﬁﬁ$§:’wwwwﬁaﬁ

z g, Afw ammE

(4)%?@% ﬁ‘{r——m T
J919 9T 2

2
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23, Which of the following is not a

common characteristic of deprived
children ?

\,,’(,l')/”f'hey look physically challenged
(2) They are socially disadvantaged
(3) They are economically deprived
(4) They feel emotionally inferior

24. Arrange the steps of Bandura's

25.

26.

social learning theory in sequence :
(a) Perception of behaviour
~ (b) Reinforcement of behaviour

(c) Remember of behaviour
(d) Convert the memory into action
Choose the correct code :

AN @, @, @, ®)
2) (b), (@), (), (D) @
) (), (d), (a), (b) '
(4) (b), (), (d), (a)
‘Which of the following is nof
influenced by heredity ?

Aptitude  *(2) Attitude
(8) Emotions (4) Interest

Which of the following statement is
not correct regarding individual
differences ?

(1) Individual differences exist In
both cognitive and psychomotor
domain. '

(2) Species characteristics influence

individual differences.
The cause of individual
differences is the social
environment, not the physical
environment.

(4) Age also has an effect on
individual differences.

P10
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28.

29.

30.

ﬁ‘?‘i’aﬁﬁﬁﬁqﬁiﬁrﬁﬁ-ﬂw

N
(4) g Rt mm

O
ﬁﬂﬁf@aﬁ%ﬁﬁ-mmﬁsﬂaﬁm

BT TTFH FFE?

(1) Fem-famst y
(2) TR :

@) 77

(4) gk o
ﬁw%f@aﬁﬁ%'—rmaﬁﬁﬂfﬁm
T &7 r(;

(1) 9959 (2) Iqqfey

(3) TP (4) T giEels

i & & #-ar Rre-sifem
F RT W A amE B
7 E?

(1) & |,

(2) s el

21.

28.

29,

30.

GET IT ON
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Which of the following types of
questions is not suitable for testing
student's expression of feelings

and logical thinking ?
(1) Analytical type
(2) Critical type

(3) Discussion type

_(#®"Multipie option type

Which one of the following is
not a component of progressive
education ?

(1) Discussion

M emorization

(3) Experientation

(4) Interaction

Which of the following is not an
acquired motive ?

(1) Affiliation  (2) .Hchieveme nt

(3) Approval \9)* Pain avoidance

Which of the following is not an

environmental factor affecting

teaching-learning ?

(1) Learning material

- (2) Physical conditions

(3) Recreational facilities

\jﬂ'f Maturation
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=11/ PART ~ I

wiw (R wd oflieh) / LANGUAGES (HINDI & ENGLISH)

=D (HINDI)

Pt : FreRfe 5 3 St 3% § e e o P P

31, R B TR A o R g
(1) FT - R
) ST ~ SFTE
(3) Faha - fNepd®
4) WH - TS
32. I A gy G -w sfe ¥ g
WWWW:
(1) ST B H TN o1 T
2 - faiatra
@) Frsfie Trﬁ?—ﬁh@‘_'ﬁ & W ¥ -
Gﬁ'ﬂﬂiﬁﬂf o)}
@R e Fde Rt gl
ﬁm%gﬂﬁ%m
(4) TE-FRH q© 9 ow T A &
T - o e
33, O F atvE dvaet $ gl
T T
(1) S - 9gE, Hyd, FOEl
(2) % - &, Hgd, IRl
3§ - e, T, SN
(4) o1 - 9%, fga, gl
Q]

34, ) e # Bhre Rdwwet ¥
G SRAE AR '
(1) A & &
(2) s fareror @ Rt @ 99

@y T A ) Rftre s

(4) fmem qur IuifEr
[ Level-3 /5321 ] ;Eﬂ

35. f5g Ry # weie fagor @
ST 78T B ¥ 7
(1) B wRem R, 98 @A @
i |
2T TR R AT
@) Y& R X R e Hd B
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ST, SR R e S R §
S%T'ﬁmarcﬂaﬁﬂ‘ganwm|:mw
?ﬁ%aﬁrmmgqaﬁﬁmﬁ%

@)
37. F=fofes & ¥ f9-w1 oo g 2
(M) 799 H qa yg 999 3 9
Qﬁﬂﬁﬁﬁﬁﬁgl

2T W TS g gy
EECRERIG R
() A3 H+ g 7 s B
(4) TR SeagRacda 8 2
38. BT BT IR E 7
(1) TRE ¥ gRe, % eaaaT Foa d
gIar &
(2 T T o e e R b
(G
@) FA &R R TH-gEr q
@A B 2l
(4) aefss @ # Fm ok R
TR SR B
o)

39. TG RS Ape :
(1) 54 I8 GHRY 2N -
AP T T FEEE G @ ok
FHreATdid =i
(3) 79 THH T B
(4) 59 98 TUU P IawT 2

\;;ﬁ{wﬁwm *""‘*‘E‘Fﬁm
3) Rftas, ore, - T Y

g, g, g - e
41. Prffeg & 4 A9 aed @ R
TR

(1) 3f@ @@ &R T FEH B

(2) @A™ F e fqebide BT

(3) g T | TG B HEE B

G e a SEE AEE
GLEEH '

42, 59 FHw # SuEl - foMeE
R & 7
(1) STRerE, SToxE, aT9y - ‘319 I

(3) ARVTH, FaqH, AYTH - ‘3
\}X SqET

- (3) Feyes, g, e - g Sgert

(4) =1y, Feor, FfRes - 9P Iue

43. Fefofed & ¥ o 9= &
(1) T |, STy, Qe

2y ey, e, fanfiof®)
(3) gHior, Jae, Mo

(4) A%, SR, SrerieRoT
44. T W gfe § G e g
(1) ﬁg(, s, T - ‘a7 g
? E?b'ﬂ', a@ﬁ- - ‘Uﬂ" o[22
() TEE, ®|HE, "M - e
e
(4) T, T, B - @ T

45. Wﬁg&%mﬁmgﬁﬁz
(1) FYHA - FNK &5
(2) SUEHES - qEAlle
(@) SRR - SHH Fgen @
A S - FOT qgey

[ Level-3/5321] 23
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46, Fil in the
option ! 2.
Neshield's grammar is an instance
of ciesireasiesss grammar.

_&21);{;:11'%1'5&1 (2) cognitive
{é) gescriptive (4) prescriptive

learney§ to discuss @
English~ in their native
an instance of the use

Teaching
poem in
language 18
Of covvnnvnene .
() evaluative comprehension

2) multilingual resources
@3) pre-reading skills
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appropriate option.

y selecting the most
‘ liced pomegranate.

s -
owing guestions b

[ Tooked like a s

The fruif you never touched.
Mother, | am the one you sent away
When the doctor told you
[ would be a girl = your second girl.
Afterwards, as soon as you could .
you put on your grass = green sarl=

f the parijatak
the orange stems O paril APa—

glistened in your hair —

Afterwards ,
everyone smiled. - . .é
But now I ask you %

to look for me, mother,
look for me becausé
[ won't come to you in your dreams,

(#Y Tirst language acquisition Look for me, mother, look
Direction : (Q. No. 48 to 57) : Read the because I won't become a flower
following _ poem and answer the [ won't turn into @ puttertly
questions gt s ow '5{ And I am not a part of anyone's song-
Mother, | am theone 4 B | cother

you sent away ™ :
when the doctor told yoE look for the placg where you have
I would be sent me.

Look for the unspeakable.

for the place that can never be described.
Look for me, mother, because

this is what you have done.

Look for me, mother, because

a girl —In the end they had to

give me an injection to kill me.

Before I died I heard

the traffic rushing outside, the monsoon
slush, the wind sulking through

;’OW;E;OVEd ?Jur;b;: }'1—%}! ! this is not 'God's will'.

I could have clutched t eon blue

o5 one wanted — s  Look for me, mother

No one wanted ~ because I smell of formaldehyde —

I smell of formaldehyde
and still, I wish you would look
for me, mother. :

To touch me —except Igér in the
) autopsyroom
when they knew my mouth would not

search -
for anything - and my head could be 48. Who does the girl address ?
meéasured (1) the doctor (2) the society

and bent cut apart,

(8) the father _(4) the mother

[Level-3/5321]  duw:
| iﬁ P.T
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49.

50.

In which city does the foeticide
take place ?
(1) Delhi (2) Chennai

() "Mumbai (4) Pune

What does the killed infant smell
of 2

«(1) formaldehyde

ol.

(2) parijatak
(3) chlorine
(4) slush

Who is "I'" in the opening line ?
(1) the poet
'L(«Z)’the killed infant girl
(3) mother
(4) the doctor

56.

51.

GET IT ON
Google Play §
v

Fill in the plank with the correct
option :
"] looked like a 8
is an examp\%e Of cvvunevannees J
(1) metaphar .

an impﬁ}d simile
(3) irony 2
(4) simile )
Find the word in the pf)em wl:ich
means "shone due to being wet". -
(1) glistened
(2) sulking
5(3)/ clutched

(4) blossom
Fill in the blank with the correct

liced pomegranate”

58.

52. Fill in the blank with the correct option : d
option : The two":l‘ kinds of listening
According to the speaker the = 3 = LN oy
mother disliked .......... W (1) actlve aﬂd paSS]_ve
(1) oranges (2) skimm{Rg and scanning
(2) parijatak blossoms intensiye and extensive
(3Y pomegranates (4) referential and inferential

4) th - i .
() Vieigmmgrenn " 59. Fill in the blank with the correct

53. Find a word from the poem which option :
means "post mortem": | skill involves training the
(1) formaldehyde learner to listen for the English
(2) injection to kill % speech sounds including stress
(3) neon blue LT and intonation patterns.

4> autopsy ) listening (2) aural-oral
: 3 di 4 "

54. Why was the infant in the womb (9r-neating () ‘wemting
killed ? 60. Choose the correct option :

(1) because it was defective Assertion A : The disadvantage of
(2Y"because the mother didn't want print material is that it lacks
a second girl child interaction and the use of audio-

(3) doctor's mistake visual efle nts.
(4) it was ugly Assertion A : Print materials are
not portabllé, not easily available

55. Which one of the following is used and are noj ¢ost effective.
as a literary device in the poem for (1) Aistrug; Bis false
effectiveness ? (2)_ B is true; A is false
(1) repetition (2) climax ) Both A & B are true
(3) irony . (4 Tetaphor (4) Both A & B are false

[ Level-3 /5321 ]
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L
61.

62.

63.

64.

65.
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Answer the following questi
Y@ 10 fel @8 g ¢ oeir
7@ e 10 Ry T Bl &
< S ST TE Q A 5, 15
Y o IR

g weR gergd ?
OREL (2) T/
(3) Hrdl (4) dfd

o ¥ P AR 3 99 & deh
SRE ¥ STEEReH TE € 7

(1) @ N@R

@3) S (4 T

af 10 REwR, 2022 @ AR T, al
g8 =Y, 2024 1 @-ar &= 8 ?
(1) qfar ORGEIR

(3) AHa (4) FRER

u fHREd HE 9 # "sun shineé

brightly" # "ba lo sul", "houses

are brightly 1] @ "kado ula ari
pa" X "light-domes from sun"
"dopi kup logznro" el o @l
"sun" AT "brightly” % foq A
5T e o=l TR ?

(1) sul,ba (2) sul,lo

(3) ba,lo (4) lo, ba

£

61.

62.

63.

64.

GET IT ON
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qr ud ARG / QUANTITATIVE APTITUDE,

AND G.K. & AWARENESS
afer faeped O

ons by selecting the most appro

Rekha walks 10
then turns right a
Then every time turn
she walks 5,
respectively. H
from her starting point ?
(1) 20 km
(3) 10 km
A is father of C and D is son of B. E
is brother of A. Ci
How is B related to E?
(1) Daughter
- (3) Mother
Five men P, Q, R,Sand T read a

newspaper. The
first, gives it to
reads last, had taken from P. T was
not the first or last to read. There
were two-readers between P and

Q. Who reads the newspaper last ?

priate option.

km straight and
nd walks 10 km.
ing to her left,

18 and 15 km
ow far is she now

@) 18 km

Mkm

g sister of D.

Sister-in-law
(4) Husband

one who reads
R. The one who

2) R
(4) T

was Saturday on 10th

December, 2022, what will be the
on 8th December, 2024 ?

1) Saturday
(3) Monday

65. In a certain code language "sun
" shines brightly" is written as "balo
sul", "houses are brightly lit" as
nkado ula ari ba" and "light comes
from sun" as "dopi kup lo nro".
What code words are written for
"sun" and "brightly" respectively ?

(1) sul, ba

(3) ba,lo

(2) Sunday
(4) Tuesday

(2) sul, lo
J4) lo, ba

% P.T.O.
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66. = ot A 9 oy e o Ao
MONRQ, JSKTL, GUHVI, DWEXF, ?

{1 AYBRZC (@) AZCYC
3) BYBYD §4) BZCzZD
N
s 61. 3R ﬁm tan 0 + gec ) = 4, T cos 0 F
I emt—w e
gy AL et
) 8 2 17
15 17
) — 4) —
17 @ 15

68. 2880 # wf o T 3 R A
] wﬁ@am%ﬁwﬁam

TRy ?
(1) 2 ) 3
a@a}f-% 4) 5

sscpﬁwooomﬁqzswsﬁ
3 %B 7 9% Q 30,000 9
jmaﬁq%agemuﬁard%w
T H S A 2 1 F e |
aler T, ﬁomﬂfi‘qﬁﬁgaﬂ?
(1) 3°AE I’ _(2y 4 WE A%
(3) 8 HIE S&  (4) 6 HE TR

70. R T HEAN 3 : 2 : 5 B orgu F
@ T W E & el § o o
T 1862 % I ¥ HeF A Gl

FUK T
(1) 7 2) 14
A3) 21 (4) 35

71. 5,290 593 & R A B ok c 3
"”'rﬁﬁmwmwmﬂaaﬂvsﬁ

m Fd FH — A7 FHes @ R
7 o m‘ér To H U
ﬂo (2) 900
(8) 880 (4) 850

[ Level-3 /5321 ]
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61.

68.

69.
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Find the next term of the following

letter geries : |
MOQNRO, JSKTL, GUHVI, DWEXF,?

(1) AYBZC (2) AZCYC
(3) BYBYD (4) BZCZD

Iftan 0 + sec 0 = 4, then the value
of cos () is equal to :

17 8
(1) = (2) T s
15 17 L
3) ﬁ (4) 15

What is the smallest number by
which 2880 must be divided in
order to make it a perfect square ?
(1) 2 (@) 3

3) 4 (4) 5

P began a business with Rs. 45,000
and Q joined with Rs. 30,000 after
some time. If the profit at the end
of the year were divided among
them in the ratio 2 : 1, when did Q
join ? :
(1) after3 months (2) after 4 months
(3) after5 months (4) after 6 months

If three numbers are in the ratio
3 : 2 : B such that the sum of their
squares is equal to 1862, the
middle number is equal to :

(1) 7 (2) 14z

3) 21 (4) 35

A, B and C together completed a
work for Rs. 5290. A and B

|
together did Et% of the whole work.

Amount received by C in Rs. is
equal to :

1) 920

(3) 880

(2) 900
(4) 850

—all
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14.

15.

qﬁﬁ[ﬁﬂﬁﬂﬁlﬂ?ﬁ%aﬁfﬁﬁ“{ﬁﬁ
& a5 gy STt A 1ﬁa$mﬂ

W16 Fo (@) 177
(3) 18 Hlo (4) 19 Hlo

Py Ao P OFTT TG 8
acY (e (EOTS
[ﬂ ’ [?] o ke
(EEJTS !
m o)
127 133
X 1%
Snlo N | — |-
w(p] ()[q]
120 127
o (2] Lo
P q
g @ SOTER JEY W STEaT 748

3 zgd e 14 TR o gE
el B 9 ¥ 3 wRY # AR

U B .
(1) 0258 (2) 0.5 W

16.

(3) 1.0 &l (4) 1.5 &I
X Wl @ g S F 1 : 2 @
ﬂ%%lﬁ%mﬁa@ﬁ%:

1) 1:2 @ 1:42
@) 1:242 . poo(d)didl

[Level-3/5321 ] %
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72, The difference between the
© compotund interest and simple
interest on a certain amount at 5%
per annum for 2 years is Rs, 18.
The principal amount ig equal to :
(1) 2o (2) 4,000
3) 6&00 (48,000
73. The ®dius of a circular field,
© Whosga;rea is equal to the sum of
the area of the three circular fields
having radii 8 m, 9 m and 12 m
respectively, is equal to !
(1) 16 m 42y 17 m
(3) 18 m (4) 19 m

Té Next term of the following series is :

=3 [AG 3 CK 21 (-—E'_QJ‘E.
= o T . !
d o’ g Lok

AN

)
B
IX

127 133
1) —J @ [-‘Z}
\ P q

120 127
ofz ol
\ P. q

75. The volume of the metallic
@  cylindrical pipe is 748 cm’. lts

length is 14 cm and its external
radius is 9 cm. The thickness of

pipe is equal to:
(1) 0.25 cm (2) 0.5 cm
\@/l.gcm (4) 1.5 cm
76. The %lrface areas of the two
sphex®k are in the ratio 1 : 2. The
ratio gf;their volumes is :
1) 1:2 @) 1:+2
3y 1:2/2 4) 1:4

| |  1PT0.

A
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78,

80.

81.

82.

S
C] ht:”j
ﬁw%@r%“hﬂa‘a g e i

2.9, 28, 7, 1286, 217, 344

w? (2) 65
) 9 (4) 115

;;m%_g:‘:ﬁzﬂaaaﬁ(b

sﬁﬂﬁgmcﬁrm%ﬁﬁrﬁw
TITE?

A,p,R,x,Yaﬂrzrzasfrﬁaff%‘régq
Y A o op

v it g R, A & U it
HT B P 3 THRA Tl @ik A oy
gME? A

()X 5@2)'{

3) Z a4) R

Frie % & Bt Ter e e
® T #w e ahe 3wy
P & far ?

(1) THo o ey

(2) o Fo Ty

(3) AP g

(4) fasraads

BN % &aT ST B g oremy
P 7 a3

(1) TER e o

(2) 3RETT T

3 dm e ©

(4) T qog
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Find the missing term in the
following number series :
2,9,28,7 126,217, 344

(1) 37 (2) 65
(3) 91 (4) 115
A square and an equilatery

triangle are inscribed in a circle, If
a and b denote the lengths of theij;
sides respectively, then which of
the following is true ?

(1) 2a®=3b% (2) 3a%=2p2

3) a®=3b% _(4y b?=24"

Line : Square : : Arc: ?
(1) Ring (2) Sphere
ﬂ Circle (4) Ball

A, P,R X Yand 7 are sitting in a
row. Y and Z are in the centre and
A and P are at the ends. R is sitting
on the immediate left of A. Who is
sitting on the immediate right of P ?

X @Y

) z (4) R

Who among the following did nof
during the Chief Ministership of
Manohar Lal Khattar ?

() 8.C. Chaudhary

3) Shakuntala Jakhu ) @
v(Ajr Vijay Vardhan

Who was the First Chairman of
(1) Dalbir Singh
[2) Darbari Lal Gupta

(3) Bhim Singh

Serve as the Chief Secretary
(2) P.K. Gupta

Haryana Public Service Commission ?
(4) Manoj Pandey
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(A)gﬂﬂm - fmr

(B)anﬁm - A

(C)ﬁﬁ%mamw SiE
r~

'Hs??gtezsrwaaﬁq:

(1) &) T (C)
(2) (A) T (B)
(3) (B) T (C)
4) (&), (B) T (C)

frfefed & 8 FF-W a9 S@

gwﬁﬁmqﬁr%ﬁﬁmﬁua
?

(1) TUEE AR
(2) PrveEE AR

(3) O -TIaH FAHII

o (4) TR SHHAT

ﬁ@maﬁqﬁa%m&ﬂﬁwﬁ%
Ho B IRl

(&) RRE P IER AfER TE @
T Qe | ST R A

(IJ%HHW@W%I

(2) a7 T (®) F9 B

@ 7 a@ #F (A) T & A (B)
g |

4) A FEF A B
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83. Which of the following are
correctly matched ?
(R) Gujari Mahal - Hisar
(B) Aram-e-Kausar - Narnaul
(C) Tomb of Sheikh - Jind
Tayyab

Choose the correct code':

(1) (&) and (C)

(2) (B)and (B)

(3) (B) and (C) %
4 A), (B) and (C)

84. Which of the following wild life
sanctuaries is located in Shivalik
hights ?

(1) Khaparwas Sanctuary
JM Bhindawas Sanctuary

(3) Khol Hi-Raitan Sanctuary
(4) Nahar Sanctuary

85. Read the following statements about
Pehowa Inscription :

(A) The inscription was issued by a
ruler of Gurjar Pratihar dynasty.

(B) As per the inscription, Pehowa
was a famous market of horse
dealers.

Choose the correct code :
(1) Only statement (A) is true.

(2) Only statement (B) is true.
(3) Neither statement (A) nor
_ statement (B) is true.

\(5)/5/0‘&1 the statements are true.

P.I40.
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88. Frefag %;T AT B e

BRI &y

89. 379 e
AT T P o ?

(1) 757 gy
(2) Ty
@) gy
(5 P i

(2) 379 =fers
(3) e smaE
o (4) TRl ferg
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86. Which of the following stater‘nr,-m,,
about Sir Choturam are Correct
(A) He began his career ag

Congress man.
(B) Later be joined Unionist Party,
(C) He was a Minister ip the
government  of
Punjab. ‘
Choose the correct code :
(1) Only statement (B) & (C) are
correct. _
(2) Only statement (A) & (©C) are
correct.
(3) Only statement (A) is correct,
; ystatement (A), (B) & (C) are

Correct,

q

87. Where the Indian Institute of
Information Technology is being
set-up ?

(1) Kilohad (2) Baraut
N3) Pipali Khera (4) Rasulpura

88. Which of the following districts is
notpart of Rohtak division ?
(1) Jhajjar (2) Sonipat
(3) Bhiwani k4> Rewari

89. Which of the following was the

theme State for the 37th Surajkund
International Crafts Fair ?

) Madhya Pradesh
(2) Rajasthan
(3) Manipur @
(4) Gujarat
80. The woman wrestler of Haryana whe
received the Arjuna Award of 2023 ?
(1) Antim Panghal
(2) Anshy Malik
(3) Geetika Jakhar-~

(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

